
ENEE 457
Static Analysis Class Exercise

ln 1 (sink) A = untainted
ln 2 (source) B = tainted

ln 6 C >= tainted
ln 7 D >= C

ln 8 E >= untainted
ln 9 D >= E

ln 10 D < = untainted

No vulnerability.
No solution since constraints from ln 6, ln 7, ln 10 imply:
tainted <= C <= D <= untainted
This implies that tainted <= untainted, which is false, since we assume 
tainted > untainted
When mystring2 is assigned in ln 9, it should be given a new name (each 
variable should only be assigned once). ln 9 becomes:
F char *mystring4 = mystring3
ln 10 becomes: printf(mystring4)
Now all constraints can be satisfied.
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